No Brain Too Small ® AS 92021 3§ CB 1.2 Demonstrate understanding of chemical reactions in context

Chemical Reaction Types — Examples for AS 92021

Nevtralisation

o acid + bage = calt + water
hv]olroohforio acid + odium l’w]ahfoxiolc - ¢odivm chlovide + water
HC + NaOH = Nall + H,O

e acid + carbonate®* =2 calt + water + carbon dioxide
*or I’W]ohfog@’l carbonate

nitric acid + Sodivm carbonate = <odivm nitvate + water + carbon dioxide
2HNOs + NayCOs -> 2NaNOs + H,0 + CO;,

Combvstion

° oomplm‘c combustion: carbon oompovmol + ercess omgen
VroPanc + omygen - carbon dioxide + water
Csttg + 50, 2 3C0O, + 41,0

* incomplete combustion; carbon compound + limited omgen. Many possible: equation.
Fropane + omgen —> carbon monoxide + water
%Hg + 502 2> 200 + AILH—zO

l’ifoPanc + oygen = carbon dioxide + carbon monoxide + water
Csttg + 40, 2 CO; + 2C0 + 4H,0

Fropanc + oygen = carbon dioxide + carbon monoxide + carbon + water
Cstte + 3120, 2 CO, + CO + C + 4H,0

Praoi,gi‘faﬁon

® lonic oon/lPovmol(aO + lonic oomPovnol(aO > fonic- compound($) + ionic compovnal(at()
copper Qvffa+o(a@ + Sodivm hv]olroxiolc(aq) > copper hydroxide(s) + odium gv!fa+c(a@
OuSOzf(az{) + ZNaOH“(az() > Cy(OH)(s) + Naz‘SOz,L(atO
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Combination

metal + nonmetal =2 lonic compovnol
sodivm + chlorine = Sodivm chloride
2Na + Cl, = 2Nac

nonmetal + nonmetal = covalent oomPowlol
Sulfur + omgen > lfur dioxide
5 + Oz 9 602

Decomposition

metal carbonate (heated) — metal oride + carbon diotide
zine carbonate > zinc oxide + carbon dioxide

ZnCO;5 > 740 + CO;

metal hydroride (heated) — metal oxide + water
copper hv]olroxiolc > copper oxide + water
Co(OH), > GO + H,0

metal hqolro%n carbonate (heated) — metal carbonate + carbon dioxide + water
Sodivm hv]olrogcn carbonate =2 Sodivm carbonate + carbon dioxide + water
2NaHC O3 > NaylOs + CO; + HO



